
Summerlight® Verso

Version 1.05	 Sun Protection AVZ	 7C.1

7



7C.2	 Sun Protection AVZ	 Version 1.05

Summerlight® Verso

7



# = Article will be sold out. Special orders remain possible.

Summerlight® Verso

Version 1.05	 Sun Protection AVZ	 7C.3

Part number		  Description	 Paint finish	 Length in m1

				    Pack. Unit

7

4215 327-090 Spare parts kit Summerlight Verso Mill finish  

4215 327-006 Idem Pure white  

4215 327-901 Idem RAL 9001 cream  

4215 327-916 Idem RAL 9016 traffic white   

The end fix brackets are also separately available, the part numbers are:
4215 101/103-000 Mill finish
4215 101/103-006 Pure white
4215 101/103-007 RAL 8019 grey brown #
4215 101/103-901 RAL 9001 cream 
4215 101/103-916 RAL 9016 traffic white

Other parts in the kit Summerlight Verso are also separately available
(refer to chapter 7A multipurpose parts).

4217 310-000 Drilling aid piece for side guide 
(For fixing the top cover support to the side guide) 

4215 119-068 Alu coupler Verso, complete with couple bearing Mill finish  

4215 119-006 Idem pure white  

4215 119-901 Idem RAL 9001 cream  

4215 119-916 Idem RAL 9016 traffic white   

 

4215 337-000 Alu side guide support 100 mm high Mill finish  

4215 337-006 Idem RAL 9010 pure white  

4215 337-901 Idem RAL 9001 cream  

4215 337-916 Idem RAL 9016 traffic white  

4215 337-755 Idem (* = Textured) RAL 7016 anthracite grey*   

4215 338-000 Alu side guide support 100 mm high for 2 profiles Mill finish  

4215 338-006 Idem RAL 9010 pure white  

4215 338-901 Idem RAL 9001 cream  

4215 338-916 Idem RAL 9016 traffic white  

4215 338-755 Idem (* = Textured) RAL 7016 anthracite grey*   

4215 342-000 Alu support seperate (for upper and botomside)
Height of the tab which goes in the connection tube is 
26 mm

Mill finish

 



7C.4	 Sun Protection AVZ	 Version 1.05

# = Article will be sold out. Special orders remain possible.

Summerlight® Verso

Part number		  Description	 Paint finish	 Length in m1

				    Pack. Unit

7

4215 344-000 Alu plate seperate (upper side) for fixing 2 profiles Mill finish 

4217 074-000 Fastening plate for side guide support 

4410 409-000 Stud bolt  M6 x 16 mm
(For fixing the plate to the support)

100
 

4410 402-000 Washer M6 100 

4210 142-000 Plate screw countersunk Philips head 4.2 x 32 mm
(For fixing the support to the connection tube) 

100
 

4210 039-000 Stainless steel countersunk cross screw M6 x 16 mm
(For fixing connection tube to the support)

100
 

6295 696-000 Alu side guide support profiles (NEW)
To raise the supports 4215 335/336-.

Mill finish 6.0
 

4215 339-006 Alu side guide support profiles (NEW) 
To raise the supports 4215 335/336-.

RAL 9010 pure white 1.15

4215 339-007 Idem RAL 8019 grey brown 1.15

4215 339-901 Idem RAL 9001 cream 1.15

4215 339-916 Idem RAL 9016 traffic white 1.15

4215 339-755 Idem (* = textured) RAL 7016 antraciet* 1.15 

4215 227-068 Alu distance bracket 100 mm, plate and bolts included, left Mill finish  

4215 229-068 Idem, right Mill finish   

4215 227-006 Alu distance bracket 100 mm, plate and bolts included, left pure white  

4215 229-006 Idem, right pure white   

4215 227-901 Alu distance bracket 100 mm, plate and bolts included, left RAL 9001 cream  

4215 229-901 Idem, right RAL 9001 cream   



# = Article will be sold out. Special orders remain possible.

Summerlight® Verso

Version 1.05	 Sun Protection AVZ	 7C.5

Part number		  Description	 Paint finish	 Length in m1

				    Pack. Unit

7

4215 227-916 Alu distance bracket 100 mm, plate and bolts included, left RAL 9016 traffic white  

4215 229-916 Idem, right RAL 9016 traffic white   

4215 297-006 Alu distance bracket 100 mm, for 2 profiles, plate and bolts 
included

Pure white  

4215 297-007 # Idem RAL 8019 grey brown  

4215 297-901 Idem RAL 9001 cream  

4215 297-916 Idem RAL 9016 traffic white   

The distance brackets 4215 227/229/297/226/228/296- can be combined with an U-bracket 4215 240:

4215 240-090 Alu U-shape bracket (15 x 30 x 15 x 3 mm) 
for placement under 4215 227/229/297/226/228/296-… 
in case of 4215 296/297-… cutting through the middle

Mill finish  

4215 240-006 Idem Pure white  

4215 240-007 Idem RAL 8019 grey brown  

4215 240-901 Idem RAL 9001 cream  

4215 240-916 Idem RAL 9016 traffic white   

For more multipurpose distance brackets Summerlight and Summerlight Verso refer to chapter 7A.

4215 190-080 Bristle top cover Black 25

4215 190-000 Idem Black 500 

6295 652-000 Alu top cover Summerlight Verso Mill finish 4.0

6295 654-000 Idem Mill finish 5.0

6295 656-000 Idem Mill finish 6.0

6295 658-000 Idem Mill finish 7.0 

6295 652-006 Alu top cover Summerlight Verso pure white 4.0

6295 654-006 Idem pure white 5.0

6295 656-006 Idem pure white 6.0

6295 658-006 Idem pure white 7.0 

6295 652-901 Alu top cover Summerlight Verso RAL 9001 cream 4.0

6295 654-901 Idem RAL 9001 cream 5.0

6295 656-901 Idem RAL 9001 cream 6.0

6295 658-901 Idem RAL 9001 cream 7.0 

6295 654-916 Alu top cover Summerlight Verso RAL 9016 traffic white 5.0

6295 656-916 Idem RAL 9016 traffic white 6.0 

4215 190-080 Bristle top cover Black 25

4215 190-000 Idem Black 500 

On the Verso the distance brackets 4215 226/228/296- can also be applied (refer to chapter 9A).
The top cover is hereby placed on the bottom side equally with the bottom side of the distance bracket. 
Place the neoprene between the top cover and roof construction for suppression of impact sound.



7C.6	 Sun Protection AVZ	 Version 1.05

# = Article will be sold out. Special orders remain possible.

Summerlight® Verso

Part number		  Description	 Paint finish	 Length in m1

				    Pack. Unit

7

6295 622-000 Alu bottom cover Summerlight Verso Mill finish 4.0

6295 624-000 Idem Mill finish 5.0

6295 626-000 Idem Mill finish 6.0

6295 628-000 Idem Mill finish 7.0 

6295 622-006 Alu bottom cover Summerlight Verso pure white 4.0

6295 624-006 Idem pure white 5.0

6295 626-006 Idem pure white 6.0

6295 628-006 Idem pure white 7.0 

6295 622-901 Alu bottom cover Summerlight Verso RAL 9001 cream 4.0

6295 624-901 Idem RAL 9001 cream 5.0

6295 626-901 Idem RAL 9001 cream 6.0

6295 628-901 Idem RAL 9001 cream 7.0 

6295 624-916 Alu bottom cover Summerlight Verso RAL 9016 traffic white 5.0

6295 626-916 Idem RAL 9016 traffic white 6.0 

4210 142-000 Plate screw with countersunk Philips head 4.2 x 32 mm
(For fixing bottom cover to the top cover bracket)

100
 

4211 130-080 Nylon insert strip for stopper in bottom cover Black 50

4211 132-080 Idem White 50 

For more multipurpose parts for Summerlight and Summerlight Verso refer to chapter 7A.

Further requirements: 
- Rollers refer to chapter 1


